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QUESTION 1

What will happen if you type the command unset protocol vrouter trust-vr protocol ospf?

A. OSPF stops running, but the OSPF configuration is left intact.

B. All OSPF configuration parameters are removed from the vrouter only.

C. All OSPF configuration parameters are removed from all interfaces in the vrouter.

D. All OSPF configuration parameters are removed from the vrouter and from all interfaces in the vrouter.

Correct Answer: D

QUESTION 2

The exhibit displays output from the event log of a ScreenOS device. Given the information shown in the exhibit, which
two statements are correct? (Choose two.)

ssgi20-> get log event

Total event entries = 40

Date Time Module Level Type Description

2012-11-27 02:33:58 system info 00536 IKE 192.168.1.4 Phase Z msg ID
d85b5a89: Negotiations have failed.

£2012-11-27 02:33:58 system info 00536 Rejected an IKE packet on ethernet0/0
from 192.168.1.2:500 to 152.168.1.10:
J00 with cookies eld4ebB84bcfcfbal? and
24060dePfZad72e3 because The peer =ent
4 proxy ID that did not mateh the one
in the 8& config.

£2012-11-27 02:33:58 system info 00536 IKE 152.168.1.4 Phase 2: No policy
exists for the sroxy ID received:
local ID (10.20.1.0/255.255.255.0, 17,
§3) remote ID (10.204.1.0/255.255.255.0,
17, 53).

2012-11-27 02Z:23:58 system info 005346 IEKE 192.148.1.4 Phase 2 wmsg ID
d85b5eH5: Responded to the peer’™s
first message.

A. The VPN initiator is sending a proxy ID of: local: 10.20.1.0/24 remote:10.204.1.0/24 service:ANY
B. The VPN contains a proxy ID mismatch.

C. Phase 2 negotiations completed successfully.

D. Phase 1 negotiations completed successfully.

Correct Answer: BD
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QUESTION 3

You need to add a DIP pool to the interface shown in the exhibit. The DIP pool has been assigned the IP addresses
20.20.20.1 through 20.20.20.10. Which command would you use to accomplish this task?

ssg5(M)-> get conf | incl ethernetl/2 set interface "ethernetl/2" zone "Untrust" set interface ethernetl/2 ip 10.0.0.1/24
set interface ethernet1/2 route set interface "ethernetl/2" description "Internet Connection 1" set interface ethernetl/2 ip
manageable set interface ethernetl/2 manage ping

A. set interface ethernet1/2 ext ip 20.20.20.1 255.255.255.0 dip 1 20.20.20.1 20.20.20.10

B. set interface ethernetl/2 ext ip 10.0.0.1 255.255.255.0 dip 1 20.20.20.1 20.20.20.10

C. set interface ethernetl/2 dip 1 20.20.20.1 20.20.20.10

D. set interface ethernetl/2 secondary ip 20.20.20.1 255.255.255.0 dip 1 20.20.20.1 20.20.20.10

Correct Answer: A

QUESTION 4

Your ScreenOS device is using NAT. Which NAT function allows you to use a single IP address from an untrust zone to
communicate to multiple IP addresses in a trust zone?

A. NAT-src with PAT enabled
B. NAT-dst with PAT enabled
C. NAT-src using a DIP pool with PAT enabled
D. NAT-dst using a DIP pool with PAT disabled

Correct Answer: B

QUESTION 5

A monitored interface on a clustered pair of ScreenOS devices goes down and both devices became ineligible to be
master of the cluster. As a result, neither device is passing traffic. Which step would have prevented this situation?

A. Configure initial hold-down time to 10 seconds.

B. Configure the preempt parameter and a higher priority on one of the devices.
C. Configure the lost heartbeat interval to 1 second.

D. Configure the master-always-exists parameter.

Correct Answer: D
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